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(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/mM%Z#B% % - -~ -|[3mZEEBR S -~ - -| 100kN/MZ#BZ % - ~ -|3mEBZD ~ -
znLs 1.00 |1 0.00 ~ 4.75 59.21 | #hs 000 ~ 000|178 9.00 znLst 1.00 | 5.00 ~ 56.00 59.21 | =nLs | 5,00 ~ 5.00)]1.78 9.00
P 100kN/mM#Z#B% % ~ -|[3mZEEBR S ~ -| 100kN/MZ#BZ % ~ -|3mEBZD ~
Zhn s 1.00 | 000 ~ 255 33.68 | Fhst | 000 ~ 255|267 13.48 LS 1.00 | 500 ~ 721 33.68 | #nLS | 5,00 ~ 721|267 13.48
3 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/M%# 8% % ~ -|3mEZD ~
Zh s 1.00 | 000 ~ 705 89.42 | #hst | 000 ~ 705|248 12.56 zhn s 1.00 | 5.00 ~ 10.12 89.42 | #nLSY | 5,00 ~ 1012|248 12.56
4 100kN/m#%#8%25% | 1.00| 000 ~ 281 144.46 |3m%EBZ5 ~ -| 100kN/m%#BZ 5| 1.00 | 1057 ~ 2365 144.46 |3mEBZB ~
Zh s 1.00 | 281 ~ 1060 100.00 | TN | 000 ~ 1060|2.76 13.97 zh st 1.00 | 600 ~ 1057 100.00| FnRS | 500 ~ 2365|276 13.97
5 100kN/m#Z#B2%| 1.00 | 000 ~ 236| 13687 |3mEBZ5 ~ -| 100kN/mi%#82% | 1.00 | 1064 ~ 2004| 136.87 |3mEBZ5 ~ -
Zhn s 1.00 | 236 ~ 1015 100.00 | =S | 000 ~ 1015| 2.80 14.16 znLst 1.00 | 500 ~ 1064 100.00 | #nLS | .00 ~ 2004 | 2.80 14.16
g 100kN/m#Z#B2%| 1.00 | 000 ~ 1.72| 12639 |3mEBZ5 ~ -| 100kN/m%#BZ5 | 1.00 | 1053 ~ 1666 126.39 |3mE#EZB ~
Zh s 100|172 ~ 951 100.00 | EhLls | 000 ~ 951|236 11.92 Zzh st 1.00 | 5.00 ~ 1053 100.00| FnLs | 500 ~ 1666| 2.56 11.92
100kN/mM%Z#BZ % ~ 3m%EHBAS ~ 100kN/mM%Z#BZ % ~ 3mEBZD ~
zh s ~ zhst ~ zhnLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZ D ~ 100kN/m#%#BZ % ~ ImEERD ~
zh s ~ zhst ~ zhnLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#B 2% ~ ImEBZD ~
zh s ~ zhst ~ zhnLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZ D ~ 100kN/m#%#BZ % ~ ImEBZD ~
zh s ~ zhst ~ zhnLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#B 2% ~ ImEBZD ~
zh s ~ zhst ~ zhnLs ~ zhLsn ~
100kN/m#%#BZ % ~ ImEEZ D ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZTh LS ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ 3ImEEZD ~ 100kN/m#%#B 2% ~ ImEBZD ~
Zn LS ~ ZThLLS ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zn LS ~ ZThLLsh ~ LS ~ Zhn Lot ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh LS ~ Zh s ~
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